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Selling price of iron ore

1977. SHRI PYARIMOHAN MOHAPATRA: Will the Mimster of MINES be

pleased to state:

(a) the average selling price of iron ore at the mines head in Odisha and

Jharkhand each vear during the last five years starting from the year 2009;
(b) the cost of mining each year during the same period; and

(¢) how much of the difference between the average selling price and average
cost of mining has come to the public exchequer as rovalty to the State Government

and taxes and duties to the Central Government each year during the period?

THE MINISTER OF STATE IN THE MINISTRY OF MINES (SHRI VISHNU
DEO SAI): (a) The month-wise and grade-wise average sale price of iron ore for the
States of Odisha and Jharkhand since August 2009 is given in Statement (See below).

(b)y and (c¢) The cost of production 1s mine specific and depends on factors like
the stage of operations of the mine, mechanization level, number of minerals produced
(i.e. associate minerals), area of the lease etc., it is not appropriate to aggregate the

cost of production at mineral level and such data i1s not maintained centrally.

As per Section 9 of Mines and Minerals (Development and Regulation) Act,
1957 (MMDR. Act), all mining lease holders are required to pay royalty in respect
of any mineral removed or consumed from the lease area. The entire royalty amount
accrues to the concerned State Governments. Apart from this, the State Governments
collect dead rent. Further, the State Governments are empowered to levy and collect
royalty on minor minerals at their level. State Governments have also been levying
local cess and taxes on mining and minerals. Details on dead rent collected, rovalty
collected for minor minerals or amount collected as local cess and taxes on mining
and minerals by the State Governments are not maintained centrally. However, the
royalty accrual for iron ore in the State of Jharkhand and Odisha during the last
five years is given below:

{Value in ¥ lakhs)

Year Jharkhand Odisha
2009-2010 15442.56 66844.58
2010-2011 37950.58 17670420
2011-2012 57714.99 284983.52
2012-2013 63909.62 360381.90
2013-2014 Not Available 332218.99

Source: Indian Burcau of Mines.
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